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A A

0258 E 20lld sSHNZEASSE A
& 200 M2l=¢
2t 210 SEEAL+Y
gh 211 a2 (el &)
a.z.8.8 Ol &F o & E 0l Ak Hws2
&5 Al 1,164,541 1,151,041 13,500
200 M2l 251,500 249,800 1,700
210 B&EA L 240,700 239,000 1,700
211 e S ==L 21,700 20,000 1,700
21102 SRMASU= 21,700 20,000 1,700
< BHMOHXZ > 21,700 20,000 1,700
O#E ML S&IAL JIX= dUE 3,000,000& * 14! 3,000
OtgHEL|EIZ dUE 17,000,000 x 14! 17,000
OXFsSHX2A2AI FUAE U=
1,700,000 1,700
212 A28+ 216,000 216,000 0
212-09 JIEtAIE = 216,000 216,000 0
< ZHOUHXIZ > 216,000 216,000 0
OsZ2HA H=HMold 2gHl fE=2
18,000,000& « 122 216,000
216 Ol Xt==¢ 3,000 3,000 0
21601 SS0W=0IAH== 3,000 3,000 0
< MR > 3,000 3,000 0
0Z30= Ol 1,500,000 22| 3,000
220 SAEAL == 10,800 10,800 0
224 J|Et=¢ 10,800 10,800 0
22407 12+ 10,800 10,800 0
< ZHOEHXIL > 10,800 10,800 0
Os3HAl H+S2XMeld Ald HE=
900,000& * 128 10,800
700 2EX+USHUHEHcH 913,041 901,241 11,800
710 2E8=S 166,692 34,253 132,439
711 Ad0= 166,692 34,253 132,439
711-01 =MIAHYAHS 166,692 34,253 132,439
< ZHOUHXIZ > 166,692 34,253 132,439
O=MALNH= 166,692,000 x 141 166,692
720 LS HeH 746,349 866,988 120,639
721 8Y= 746,349 866,988 120,639
721-03 JIEI2 HIE Y= 746,349 866,988 A120,639
< ZHOEHXIL > 746,349 866,988 A120,639
OLES|H M= 746,349,000 x 14| 746,349

- 809 -



A £ 0l & AF & & Al A

20259 204 SSEHXZEALEESIH A

S BHI0IUH X 2

B STEHK X4 U 29

Ciel: SZONEH O LUK (SRUXTLAYSEH) (crof:m9l)
SA - B CORI(SH) - HSAY - BaS 04 b e HID 2t
Z R0l LA Xl 2t 1,164,541 1,151,041 13,500
s3HA 24 2 29 1,164,541 1,151,041 13,500
s3HANZTY & 2NN (sSHRAEZLHAILSHSIH) 1,164,541 1,151,041 13,500
S3HX Ha-3Y XMelAld 2= 148,900 149,000 A100
201 -2 AY| 24,900 25,000 A100
01 AR2t2ld] 24,900 25,000 A100
O=HAALAIMA(M) BEZA =2
5,000,000 » 14 5,000
O+ZIAAZAIMA(TMS) AE L A2F 2L
4,975,000& 43| 19,900
401 AIEHILSUB] 124,000 124,000
01 AlEYI 124,000 124,000
O33H=XelAd =Al B
100,000,000 * 14! 100,000
OFZAAZAIMAH(MS) FXI2IES
2,000,000& = 12& 24,000
S3HA JEAIE A2 20,000 20,000 0
401 AIEHIZ 20| 20,000 20,000
01 Al&HI 20,000 20,000
O=SHAX JIBAIE FXI2t2]
20,000,000 *14] 20,000
S3SHA H-SLUXEAE /E2F 982,641 967,641 15,000
201 23| 168,000 168,000 0
02 332Zt| 168,000 168,000 0
O3SH=XMelANd 28 S323
168,000,000 *14] 168,000
307 2Iz2+01 ™ 799,641 799,641
05 eItRE 3 799,641 799,641
O=3HX SZH=HM2IA4 A2
66,636, 7503 *12& 799,641
401 AIEHIZL 2] 15,000 0 15,000
01 AlEHI 15,000 0 15,000
OBBHAHIAL 222 WIS
15,000,000 15,000
SSHA AE2Z 8,000 9,400 1,400
201 Let24EH| 8,000 8,000 0
01 At 22| 8,000 8,000 0
O3 A8 28 E A5 7Y
2,000,000&*13] 2,000
O=FNLYUZ(BERNAESR)
3,000,000 *14] 3,000
O=3HX & HHl Xt
3,000,000& » 14 3,000
S3H=TXelAlE Aot BA2t2| 5,000 5,000
401 Al HIZL20HH] 3,000 3,000 0
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2N

ZHI0ILH X1 2t

By =ZoX| A4 Y 2
Co: =DOXEA L SANA(STUXXTALSH3H) (EH9l: A1)
S . N . e . HEAIY - HAS ol dAE =2}
M- . S2(3H) - NIRAY - BES Ofl &FoH ofl Ao Hns2
01 Al&HI 3,000 3,000 0
OS3HHMelAlE 2tE AN AIL F|
3,000,000& * 14 3,000
405 XHHE SHI 2,000 2,000
01 T 2 EFH S| 2,000 2,000
odtgotdgEE ¢ 2,000,000 *14] 2,000
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